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Programming for Calculation of In Situ Stress

S. Kikuchi*

ABSTRACT
JNC is planned to determine the complete in situ stress state at depths ranging
from surface to 1,000m under the Mizunami Underground Research Laboratory
Project.

The objective of this research is to develop the probe for the measurements of 3-
dimensional in situ stress applicable by 1,000m in depth by means of the Stress
Relief Method which is regarded as the most reliable method of the stress
measurement,

This work is to make a program for calculation of 3 dimensional in situ stress.

In this program , in situ stresses are calculated from measured strain data by
fortran ,then graphically indicated.

Work Performed by JDC Corporation under contract with Japan Nuclear Cycle

Development Institute.

Contract No. 11C1450

JNC Liaison: Akio Ishidou,Group Leader,Geological Environment Research group,
Tono Geoscience Center

* :JDC Corporation ,Civil Engineering Department
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1
(nlrsa( )4 rTla ) 1+ 2r‘3b(1)) c —(

G1
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1 1
— mnﬁg - T'lag ) ri k) — “(52?"1552) _Tlagz) —riE®) =0,

G ( Gy

1 1 1
E;(K'lrl la(—l% - 3?‘?&%1) - ?‘legl)) - ‘G,—(!Sz’f‘flﬁ(zg — 37"?&:(;2) — 27"15&2)) =0

2

kKl

38— 170 _ 2ra %) i =
rody) +rga(2)+r; 1p@ _ ‘(3) r2a§3’ 0,

Ty 10(2% +3r3a{” + 2r,b{Y — 3r3al® — 2rdf® = 0,

1 1
A (fsgrgﬁg Y Ty 1a‘_2} + 2ry 36(_2%) G h37"2a;(33) =0,

1 1
—(h,grgag ) _ rzag ) ‘Ik(Q)) — (Kary ag ) r2a§3)) =0,
G G’

I

G—(i-czrg‘ 17®) — 3r3a{® — 2r, 0 + (3?"3 ©) 4 9,0y = 0.
2

Gs

U EOREIG KM L ERRG R BHE TS L, 15 B0OERERICET 5EYT | hFEL
E72D, TITRHIOFERNEEHLETICHMEL, Hkik (FEHLE) IZ o TRWT W
5 (B CHARMDRENBL LTI0TE25),

REBIEFT YV ZAOMERIE B4 7/ —F > gauss % feng WTHEA LTV 29, WO
HLGRSEDEXFIXROBEY Th 3,

call gauss(BLFIB, KE, R, R¥+1, BHwEiE,)

ET—A VT =SB0 DB T A—F U OHERERKRT L 2.k b5, 0 Lis+
DEEEREL LOEY, ERy b (IRih) ERSEHER (1. e-12) X D/ EWNT L owEP
FHEEDEXFTRBoTWAZERTRTHR, K7 FSATREILOLRS S & xR
Tnd, UTOY A MIMRBATHOEREMBNTWAEFTTH B,

!—In-plane—

! real part

do i=1,15 ; do j=1,16

ovir(i,j)=0.

end do ; end do

ovir(1,1)= r(0)**3 ; ovir(1,3)=-1./r(0)
ovir(1,5)=-2./r(0)**3

ovir(2,2)= 2.*r(0) ; ovir(2,6)= 1./r(0)
ovir(3,1)= 3.*%r(0)**3 ; ovir(3,3)= 1./r(0)
ovir(3,4)= 2.%r(0)

ovir(4,1)= r(1)**3 ; ovir(4, 3)=-1./r(1)

ovir(4,5)=-2./r(1)**3 ; ovir(4, 7)=- r(1)**3

—16 —



ovir(15, 9)= kp(2}/(r(2) *gs&(2))

ovir(15,10)=- 2. *r(2) /gg(2)

ovir(15,13)= 3. *r(2)**3/gg(3)

ovir(15,15)= 2. *r(2) /gg(3)

ovir(1,16)= r(1)**2/(2.*r(0))*(1.-(r(1)/r(0))**2)* (txx0-tyy0)
ovir(2,16)= 1./ 2.%r(0) *((r(1)/r(0))**2-1.)* (txx0+tyy0)
ovir(3,16)= 1./ 2.%r(0) *(1.-(x(1)/r(0))**2)* (txx0-tyy0)

call gauss(ovir,15,15,16,eps,leir)

SRR

A B T, ERICHBEEE L TO L D gmﬁ“é LB TEZY.

™ (2) = (l),+c(1) -1
X(z)(z) — 7_|_ 6(2) —1J
x9(z) = c§3) 2
=719 DREILIIRMFITED
ei’rg — 25t = —(Cing - Tar?).

BEAND., KT, r=ry,r2 TORFIOBEEEM,
0 Ny = 02 rmrss 0Dy = 0|y
B L OER OMEEEE,
ey, — 1 pmr, = 0, P, — 0Py, = 0.

&V BRI E D,

rgcg - Ty E(l) = —1oC1 +r5'C 1,
ricl) — 718 e 4 pr1® = g,

M, .11 ' & 4 12
—(re; +r{co +rycY 0.
GI( 1¢{ 1 C 1) Gz( 1=

rgcg ) - Ty “‘(2) —r c&s) =0,
@, -1y L @)
— (oG +715C) — —raci = 0.
Gg( 2Cy 2 C.1) o ples}

—rgC1+ 15 1C_y = (=1 + 1y ) (r — iToe)-

—17 —
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BEIZIZU T ORE, B LZ5KY 1) 7 R effhiEkanBREEAELN S,

1 2 3 4 5
o =T 0 0 0| [ [ rt e
2| m -yt —m gt 0 & 0
-1 -1 ‘ =
3 IR TS U B | = 0 (3.9)
G G Ga Go c(z)‘ 0
4 0 0 Ta —7'2_1 =T E}])“
r ryl 7 ! 0 -‘
51 0 0 2 2 -
L Ga Ga Gs |
i 1 2 3 4 5
Lire om0 0 0 ([T T (rg—rglrd)re2 ]
21rm  rit —ry =yt 0 e 0
=1 -
T r] ry Ty @ | _
g i 't 0 c; = 0 (3.10)
Gy G Ga G 2y 0
-1 ca
4 O 0 T2 Ty —Tg h;
1 ® 0 ]
51 0 0 2 T2 T2 b
L Gy Gy Ga |
BRSHEERORE

gauss I L > TP IZRERIZESESICHE I EN D, 2% ¥ @MAMETIE ovir(i,16) (i=1
~ 15),0vii(},11)(i=1 ~ 10) iz, EFMERE TIL ovor(i,6)(i=1 ~ 6),0voi(i,6)(i=1 ~ 5) IZHEMR
RoTL D, LI TERFRETER, EBILILB/TLNAEILRDOE SITRESNS
(feng M),

! coefficients for overcoring

ah(1, 3)= ovir( 1,16) + ai *ovii( 1,11) ;g
ah(1, 1)= ovir( 2,16) = : &V

ah(1,-1)= ovir( 3,16) + ai *ovii( 2,11) . :a%
bh(1, 2)= ovir( 4,16) + ai *ovii( 3,11) ;B
bh(1;-2)= ovir( 5,16) + ai *ovii( 4,11) . 54
kh(1) = ovir( 6,16)  : k(O

ah(2, 3)= ovir( 7,16) + ai *ovii( 5,11) : 8
ah(2, 1)= ovir( 8,18) : &l

ah(2,-1)= ovir( 9,16} + ai *ovii( 6,11) : 8%
bh(2, 2)= ovir(10,16) + ai *ovii( 7,11) . B
bh(2,-2)= ovir(11,16) + ai *6vii( 8,11) . 52
kh(2) = ovir(12,16) : k@)

—18 —



ah(3, 3)= ovir(13,16) + ai *ovii( 9,11) ;o)

ah(3, 1)= ovir(14,16) AR

bh(3, 2)= ovir(15,16) + ai *ovii(10,11) : B
ch(1, 1)= ovor(1,6) + ai *ovoi(1,6) : &l
ch(1,-1)= ovor(2,6) + ai *ovoi(2,6) )
ch(2, 1)= ovor(3,6) + ai *ovoi(3,6) : &
ch(2,-1)= ovor(4,6) + ai *ovoi(4,6) : o)
ch(3, 1)= ovor(5,6) + ai *ovoi(5,6) : &

INE D EREAEE 6(2), U(2) LT OWSIE (3.5) iIlo TRO L S KRESHS
(feng ). xi(2), B:(2) bREBICRET B,

! for In-plane

phi(1,0)= ah(1,3)*zz**3+ah(1,1)*zz+ah(1,-1) /zz > p1(2)

phi(1,1)= 3.*ah(1,3)*zz**24-ah(1,1) -ah(1,-1) /zz**2 0 (2)
phi(1,2)= 6.*ah(1,3)*zz +2.*ah(1,-1)/2z**3 1 (2)

psi(1,0)= kh(l)*cdlog(zzj +bh(1,2)*zz**2+ bh(1,-2)/2z**2 : Y (2)
psi(1,1)= kh(1)/zz +2.%bh(1,2)*zz -2.¥bh(1,-2) /zz**3  : ¢! (2)
psi(1,2)=-kh(1)/2z**2 +2.*bh(1,2) 46.¥bh(1,-2)/zz**4 : 1" (2)
phi(2,0)= ah(2,3)*zz**34ah(2,1)*zz+ah(2,-1)/zz : po(2)

phi(2,1)= 3.*ah(2,3)*zz**24+ah(2,1) -ah(2,-1) /zz**2 : oh(z)
phi(2,2)= 6.*ah(2,3)*zz +2.¥ah(2,-1)/zz**3 e (2)

psi(2,0)= kh(2)*cdlog(zz)}+bh(2,2)*z2**2+bh(2,-2) /zz+*2 D tho{z)
psi(2,1)= kh(2)/2zz + 2.*bh(2,2)*22-2.*bh(2,-2) /zz**3 Wb (2)
psi(2,2)=-kh(2)/zz**24 2.*bh(2,2)+6.*bh(2,-2)/zz**4 e’ (2)
phi(3,0)= ah(3,3)*z2**3--ah(3,1)*zz; psi(3,0)= bh(3,2)*zz**2 : pa(2)
phi(3,1)== 3.*ah(3,3)*z2**24ah(3,1) ; psi(3,1)= 2.*bh(3,2)*zz L oh(2)
phi(3,2)= 6.*ah(3,3)*zz ; psi(3,2)= 2.*bh(3,2) 03" (2)
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ERAERIC L A

A —N=aFT VI35 E TR, #EETIEEITEHOPRRES KT LTCWieds, A4—
N—aAT ) TR EoTH Y BES N RIS IS T 3 = & b, FEOFLRE
BRRIEN 22D, 2D, ZOFEOTHERIC L 2HEBSEMETS 2 L RBET
H5,

o BEAMEBUMEFO L TEIC—HITERT 5 L Thid, 288, EEERLI0EL
AR S EISAERLIE U TR T 5, 2%Y, Zhbrezheh ) 50 50 L4
5&,

2
. . . o7
m(rs =12 e +w(r —r2) 6P + 26D L (72 —12) {0 — vy (1 - ?T;)(a? +0%°)} = 0. (3.11)
0

&5 (R37), EROBMEE 0 HOEWISHD L ORBEELIN Vb D TH S,

IHBD 2 FAOKARSEENEA~OWESE b1 535, K7 VU ERER BRI
EACARBISIEECEE D, B LEER (L (1) & ) OBRICECBb0F p), 5
B Ll (T (2) & (3) PBEFUTAE U D b D% py, LT3 &, 8 (1) OEAS RS K
DEH/BLNBY,

2
oft) = ——:lﬁ%l —r2r2 cos 26),
7"‘;5;” (3.12)
o) = R 1_; (1+ ?“2 r¢ cos 26).
0
kY,
2rips

(1) (1) _
o, +O‘y __7"8—7'%'

BRbLNRD, FERIZLT

2 2)
ai)+0§’ r?—r§

’ (3.13)

o® + 0‘(3) = 2p5.

&5, _:}’b%’i’%ﬂdﬁz‘t LRAL, e & 2 IZOWTHEST B LEHREL 0 ko
bha?,

A

i) = — (500 4 2 rip1
Uz E( VIT‘Z T%),

22) — 2 (52 9 _1___. W ‘ (3.].4)
U Gy — 2uy ! ,
z E2 ( 7_1 T'% )

.&9) = ES( F3) 9]/3p2)

7

T, BuoEmEs (Gl = 62,a) = ) BHRY 2T L RN b koM

1 'rlpl 1 rip1 — Taps
1 e (D) - 21/ 7‘%) — _E2 (53 — 2 ——rf 2 ) =0,
1 r2p; —rp 1.
- (0.(2) 21}21_7.%'__,;32_2) — _3(0'_2,3) — 2y3p2) = 0.

£z, ENEMESD uf) ITREETESNIZROER R,

: 1
() _ - & _ (1) (1) |4
87‘ - EL { ( T Uz )} H (31"‘])
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2 05(i), o) % 0, of) WEBLTRALES, r Ko THATS LRD L 3 1B b,

e — A1) r 1 4 p2p—2 1 — p2p—2
= —1d! {1+ rgr™% — v ( ror %) }o1,

r r8 —r?

(2
E2—= ~1p5?)

r .

1 - -
+?“;?—_“T—2 rH{l+r3r 2 — (1 —r2r- )}Pl—rz{l'i‘?“z 2= (1 —r¥r2)}py |,

~(3)

By = —ug5® + (1~ m)p,

TTT, R
u =uf, o) =uP,

£
L 1 2 -2 1 1 2,2 2,.—2 2
[E T‘2 {1+?"O'f‘1 —1/1(1—?“07" )}-I-Em{l-l‘f‘27‘1 —Ug(].——’f‘ZTl )} T1p1
2 T'% 1 Uy
— 4 2 FH0 250 o \
Ez?‘%“?"gpz Elaz 202 0
2 1 2 0
Brr?— 2P [E z 2{1 +riry — (1 —rirs?)} + 15 (1 —Vs)]Pz
| v 52) ¢ L3503 =
—_ + = 0
Es Es

BEIND, UEDSKEERT B L, p,py, 60, 52, 6O B+ s8R LA, A

_2‘]...



EEIZIE, ROk~ b ) 7 2EMITHT L v,

[
0 0
2{ i + Vs 219
r2 o -
E(2-1) EQ1-2 I
(B-1) B-D B - 1)
2vy %) Vg
S 2 —+z)
Ep(1 — 2 Ez(r—; 1)
. 2 1, 2 2
2 * o
EI(E_U By 2 Ez(ﬁ“l)
i 3
2 2
2 14+ — — (1 é) [—p. (316)
s - 2 T E
By(1- =2 S 3
2( T%) EQ(T'% )
,r2 _rz Tg 7 -~ -3 B 2 1
1 1 2 2 . . ﬁ oo
12 112 2 o2° +u(l Tg)(% +0y°)
1 1
T T 0 P2 0
Ey Eq
1 1
—— _ (1 | =
0 A E gL 0
Yy Vs = (2)
h _» 0 &
Iy By g 0
_z s 5@ 0
0 B B JL7F 1| ]

Tiabh, EARECHE LTIENE py, p L 2EHEEME, LB RS AinE
o), o), o® B HEZNIEEL, ZOWRERIIC L 3ERSAEKIZUTO L 91052 s
J:lr\ ol N A

p1(z) = {iﬁ”z, pa(z) =8z, (e) = 60, (317
P1(2) = kM logz, a(z) = k@ logz, 3(z) = 0. '
=i 2 2,.2 \
- agl)- ___"h R — o101
2(rg —r3)’ ré —r3’
agz)- _ ripi — r3pe P@- — 7"17"2(171 P2)
20ri—-rd) " ri—r§
i =2, ke =,

& 4

TR IATHETIDR engNOLUTOT 2y &/ Th B,
I—Longitudinal modification—
do i=1,5 ; do j=1,6
ovim(i,j)= 0

_22....



end do ; end do
ovlm(1,3)= 1.
ovlm(1,4)=(r(1)**2-r(2)**2)/(r(0)**2-r(1)**2)
ovim(1,5)= r(2)**2 /(r(0)**2-r(1)**2)

ovim(2,1)= 2.%(nu(1)/(ee(1)*((x(0) /r(1))**2-1.))

ovlm(5,4)=-nu(2)/ee(2) ; ovim(5,5)= nu(3)/ee(3)

ovlm(1,6)=-tzz0-nu(1)*((r(1)/r(0))**2-1.)*(txx0+tyy0)

call gauss(ovlm,5,5,6,eps,ielm)

if(ielm.ne.0) write(2,200) ’ielm=",ielm

p(1)= ovim(L6) ; p(2)= ovim(26) . : p1, p

tzz(1)= ovim(3,6) ; tzz(2)= ovlm(4,6) ; tzz(3)= ovim(5,6)
: o, 0@, o®

I Coefficients for longitudinal modification

at(1)=- r(1)**2 *p(1) /(2.*(r(0)**2-r(1)**2)) : gt

at(2)= (r(1)**2*p(1)-r(2)**2*p(2))/(2.*(r(1)**2-r(2)**2)) : @)
at(3)= p(2) / 2. . g®

kt(1)= (r(0)*r(1))**2 *p(1) /( r(0)**2-r(1)**2) : k)
kt(2)=-(r(1)*r(2))**2*(p(1)}-p(2) )/( r(1)**2-r(2)**2) : k)

@) ¥ —PRBOVPH
TF—UMBTOVTAZRD ZEDICmHER BAHY Lo THET S, BMITOTHE
BIZRSEROVY, EREEE2HERET S -ODICEBCRD B,
LIT i feng OmER TEBR ENZEZELSETLOTH AN, @A, @HAEEICEIT 3EESAH
B0 phi(i,),psi(ig) & L, WM& OERMARIC & 585055 B0 pht(i,i),pst(i,j) & L
TEREPETNE,

I Cartesian co. sys.

carte= zv*(phi(i,2)+pht(i,2) }+(psi(i,2) +pst(i,2))
polar= carte*cdexp(2.*ai*tht)

txx= 2.*dreal(phi(i,1)+pht(i,1))-dreal{carte)

tyy= 2.*dreal(phi(i,1)+pht(i,1))+dreal(carte)
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txy= dimag(carte)

txz= dreal(chi(i,1)) ; tyz=-dimag(chi(i,1))

uu= kp(i)*deonjg(phi(},0))+(3.-nu(i))/(1.4nu(i))*dconjg(pht(i,0))
& - zv*(phi(i,1)+pht(i,1))-(psi(i,1)+pst(i,1))

& -+ cdexp(-ai*tht)*ur0 wur0 & o [T DERDO— A RIEEM
ux= dreal(uu)/g2(i) ; uy=-dimag(uu)/g2(i)

Wi, EAPOUTHERD B IDITEAE RO 3 KEOBRSERICAAT B, =
12, o, of®, 79 ENBE LY, 19, 19 EEMBEL Y, o0 HERERMEL D
NENFESNZBOTHS,

1
) = (o8 — (o + o)),

1 .
o) = 0P ~valo® + @)},

1 (3.18)
e = —{0f —v5(of + o)},
&) @

3) _ —
7u"(:y) - G'_s’ Yyz = G Yoz = G_3

3Ly by — U OBERLIRICHET 2 EAM O AERR THES NS, -
EZIE 3B ICRLTVE,

Ei_r = EfzS)a
cior = & cos?(120° + 8,) + 'yg) sin(120° + 8,) cos(120° + 6,) + 5353) sin®(120° + ),
E1-g = €1-5C0s°45° + vy 4, sin45° cos 45° + &1y sin® 45°,
1
= 5{59) + 7 cos(120° + fp) + 71(,2) sin(120° + 8,) -+ e cos?(120° + 0)
-I-'yf,,i) sin{¢}, — 60°) cos(f, — 60°) + E,‘ff) sin®(, — 60°)},
Eg-y = 8.(3)1
21 = € cos®(60° + Bp) + v sin(60° + 6,) cos(60° + 6,) + £ sin®(60° + 6,
Ea_m = €p_gcos®45° + yy_g,sin 45° cos45° + g5_s sin® 45°,
1
= E{E(ma) cos?(60° + 8,) + ¥ sin(60° + 6,) cos(60° + 6,) + e sin?(60° + 6,
—7) cos (8, — 120°) — ¥ sin(6, — 120°) + &)},
E3.1 = 523),
gs.r = &l cos® 8, + 4 sin b, cos 6, + £ sin® 4,
Ea_m = E3_yCoS°45° -k Y3_z,5in45° cos45° + e5_;sin? 45°,

1 .
= 3 {5513) cos® 8, + fyg) sin &, cos O, + 5153) sin® 0, — 7Y cos(8, — 180°)

L

—7§P sin(f, — 180°) + &P} .

3.5.3 IREDHIE



RE LIc IS st L CRHHE SN2 099 L BRI SN OP5 & S L, RRENKE
WEEILIHIS D EX FE R TEEHELSVET, BEF Ac L LSS, HER
{k—tbt_ J: o= Tﬁ 5 o ’

Ae—ZZ( - 8’*”) . (3.19)

=1 j=I 7
ST, ey BIEMUT'S, ef ; WRHRVOTHTHY, Ae BR/ANCRB LD RIS o,
og, 03 & EDERA (FRARKE) REX bzl Xk, BUEBLHEEZKRT T3,
ATRTTATRINLD 6 ODEED LT OB S TREEERD TG, S
i& Davidon-Fletcher #k & BRI 5 FiEx AV, SEBEROR/MEE L5BTFE BV TE
HMTHELHLTEBY, 71— daflep & L TEBRB I TNEY, 22Tk, A4 Fnr
7T LOFET

call daflep(feng, Z#MDEH,x,epsf,epsx,cdots)

ELTRRUHLTWS, ZZi, fong ldiB/MLE €24 THY, R (3.19) THhb. A7
R7 7 AT fong 2 RD B L TOBRBENENL—F v fong L LTWB, Zhy daflep @
RTHEE LTEIRTDZDIIEA L T rF Fh ETexternal ESELTHL,

SO =FLREBNTEALTOS x(1)~ x(6) AT, HHIEH o, o, o %
x(1),%(2),x(3) Iz, ZOBRAEEH x(4),x(5),x(6) LEIV ¥TTW3B,

YIHAERS A1 1~1000 MPa OFEE T, FRAIL —45° ~ 45° OFE TR B L iz A1
Y77 LAEED data XTCRE LTS (xmin(i):R/ME, xmax(i):BKfHE), epsf,epsx
HREEER L ORREDZ AT, TNFh 1e-13,1.e-7 Th o, HEDH DR LEK ncut it
100000 | &EBRE LTV B,

2%, daflep i& feng,switch,matcor,grad,invert ® 4FEDOH 7 A —F LV EREL TV B,

3.6 i & E1E

(1) H

AERERIESLdat D7 7 A M END, RIS & FH L FEEIC SR L=
BaERL, FEAITEEHMERTAEL Iy MRy bRy M 2EARES -
R ZHLT 5, UUTIEER3L, BI3OF—F5 AN LB BDBRTHD, 2B, ZIT
SRTHN A DARETH B,

Calculation Error Value= 0.5487E-12

Principal Stress
t1(max) ta(mid) t3(min)

-0.2440E+-03 -0.1290E+-03 -0.5600E-02

Direction Cosin(®)

[ i g Ty

- 25—



1 97. 154. 65.
2 25. 86. 65.

3 114. 64. 36.

Stress Components in x,y,z(MPa)
txx tyy tzz
0.1189E--03 0.2085E-+03 0.1036E-+03
txy tyz txz
0.2493E+402 -0.6901E+02 0.1830E--02
£, : N 6 63S
t; : N B64E 4S

ty : N 24W 258

(2) Kk

[H{bix Mathematica Z VT, A —V > ZFICH UCTEE, 2 T FE & 3 RT2E 0
ERENERTRET S,

FTRTHE, £7 Math DR{EAZ 744 (SLob) 2B %, ZIEH (30) DA X X L i
XY SEMBE (90)(°) BANT B, ANTHEITITIL (- %) CHENEERIEZRTLT
b D,

RISODTFT—FZEANLIHEE VA ML LTRY, ZZTidalphal ~ gamma3 % ° ©
AALFEBRSITUACERLTNS,

# 3.5 math ~OF —# A S

KRES T Yy 2

of° | 244 f1:97° | my:154° | ny: 65°
os° 129 lp:25° | mg:86° | ng:65°
os° 56 l3:114° | mg:64° {ng: 36°

(+TARE N sigmal, PEER T sigma2, B/DERD sigmad Z2AH LTFE (M)
sigmal=244 ;
sigma2=129 ;

sigma3=>56 ;



(xsigmal @ x,y,z <@ T HERA 1L, ml,nl FAHLTTFE )
11=97 * Pi/180 ;
ml=154 * Pi/lSO';

nl=65 * Pi/180 ;

(xsigma?2 D x,y,z BITx T HIEMA 12,m2,n2 A LTTF S M)
12=25%Pi/180 ;
m2=86*Pi/180 ;

n2==65 * Pi/180 ;
(* sigma3 0 x,v,z BIZHT HEMNAI3,m3,n3 ZANLTTS %)
13=114*Pi/180 ;

- m3=64*Pi/180 ;

n3=36*Pi-180 ;

BHEE3IDE ST B,



(xy TR 3B EENRR)

200

X
50 100

(xzFHEIEFDEBHET)

100

=100

-50

50

-100

50 100

—D08 —

(v RECE B EBHHR)

200

100

-100 =50 [\—&b 100”

-100

-200

(IRREMI=B G HEHHRR)
200

X 8.9 Mathematica I & 2 H 6]
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si.nb

(+ BREENsigmal, FEELHsignaz, BIVESsignad ZANUTFEMVT #)
sigmal = 244;

sigma2 = 129;

sigma3 = 56;

(» sigmal®Dx,y,z8CHTHEHAALL ,ml, 012 AN LUTTFEIV +)
1l =97 = P1/180;

ml =154 » Pi/ 180;

nl=65« Pis180;

(+ sigma2®x,y,z8iCH T 28EMMI12, m2, 022 AN LTTFENL &)
12 =254 Pi/ 180;

m2 = 86« Pi/ 180;

n2 = 65 = Pi/180;

(+ sigma3®x,y,z¥AICHT5E#EAL3, m3, 032 AN LTTENIT )
13=114+Pi/ 180;

m3 = 64« P1i/180;

n3 = 36 Pi-~ 180;

%1 = Abs{sigmal] Cos[11];
¥l = Abs[sigmall Cos[ml];
z1 = Abs[sigmal] Cos[nl];

x2 = Abs[sigma2] Cos[12] ;
v2 = Abs[sigma2] Cos[m2] ;
z2 = Abs[sigma2] Cos[n2] ;

x3 = Abs[sigma3] Cos[13];
¥3 = Abs[sigma3] Cos[m3];
z3 = Abs[sigma3] Cos[n3] ;

xylinel = {RGBColor[1, 0, 0], Line[{{x1, ¥1}. {-%1, ~¥1}}1};
xyline2 = {RGBColox[0, 1, 0], Line[{(x2, ¥2}, {-x2, -¥2}}]}:
xyline3 = {RGBColox(0, 0, 1], Line[{(x3, ¥3}, {-x3, -¥3}}1};

yzlinel = {RGBColor[1, 0, 0], Line[{{=z1, ¥1}, {-21, -¥1}}]1};
¥yzline2 = {RGBColor[O, 1,90], Line[{{zz, ¥2}, {-=2, -¥2}1}:
yzline3 = {RGBColor[0, 0, 1], Line[{{z3, ¥3}., {-%3, -¥3}}]};

zxlinel = {RGBColor([1, 0, 0], Line[{{x1, =1}, {-x1, -Z1}}]};
zxline2 = {RGBColoxr[0, 1, 0], I.ine[{{:_:z, z2}, {-:;2, -Zz2}3}13:
zxline3 = {(RGEColor[0, 0, 1], Line[{{x3, =3}, {-x3, -23}}]1};

spclinel = {RGBColox([l, 0, 0], Line[ {{x1, y1, z1}, {-x1, -¥1, -21}}1};
spcline2 = {RGBColor{0, 1, 0], Line[{{x2, ¥2, 52}, {-%2, -¥2, -22}}]};
spoline3 = {RGBColoxr([0, 0, 1], Line[{{x3, ¥3, z3}, {-x3, -¥3, -23}}13};

Show][Graphics[{xylinel, xyline2, xyline3},

AspectRatio -»> Automatic, Axes -»> Automatic,

PlotLabel -> {"xyTHICHBIIBERHRE"}, AxesLabel -> {"x", "y"} 11 :
Show[Graphics[{yzlinel, yzline2, yzline3},

AspectRatio -» Antomatic, Axes -» Automatic,

PlotLabel -> {"yzFHICHIIDBEDBNRR"}, AxesLabel -> {"z", "¥"}1} ;



sinb

Show[Graphics[{zxlinel, zxline2, zxline3},
AspectRatio -> Automatic, Axzes -» Automatic,
PlotLabel -> {"xzREICHBITHELARFR"}, Axeslabel -» {"x", "z"}]] ;
Show[Graphics3D[{spclinel, speline2, spcline3},
Axes -> Automatic, BoxRatios -» AButomatic,
PlotLabel -> {"3RAEMICHITHELIRTE"), AxesLabel -> {"x", "y", "z"},
ViewPoint -»> {1.3, -2.4,2.}111:;
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1 Program SI
implicit double precision(a-h, 0-z)
character :: schmdt(3)#3
dimension s1(3), sm(3), sn(3), ¢1(3), em(3), cn(3),
& x(6), xd(6), xmax (6}, xmin{6), w(120)
integer dip(3), strk(3)
data pi/3. 1415926535897932/
data epsf, epsx, ncut/1. e-13, 1. e=7, 100000/
data vtest, joken, iprint, igrad, kaisu, icovar/1.e-2,1,0,0,0, 1/
data x /200., 200., 200.,10., 10., 10. /
data xd /1.e-3,1.e-3,1.e~3, 1. e-3, 1. e-3, 1. e~-3/
data xmax/1000., 1000., 1000., 45., 45., 45. /
data xmin/1., 1., 1., -45., -45,, -45./
external fcng
common/areal/r{0:2), xnu(3), ee(3), dep, strn(3, 3),
& txx0, tyy0, txy0, izz0, tyz0, txz0
nn= 6 ; nw=120
dgp= 0.

open(1,file='input.dat')

read (1, %) ( r(i), i=0, 2)

read(l %) (ee(:) i=1,3) : read(], *) (xnu(i),i=1,3)
do ip=1,3 : read(l, £) (strn(lp.J) i=1,3) ; end do
ciose(])

call daflep{fcng, nn, %, epst, epsx, vtest, ncut, xd, joken, xmax,
& xmin, iprint, igrad, fmin, kaisu, icovar, w, nw)
alpha= x(4) %pi/180.

beta = x(5)%pi/180.

gamma= x (6) *pi/180.

ct{1)= dcos(beta)*dcos (gamma)
ch{2)= -dcos (beta) *dsin(gamma)
cl{(3)= dsin(beta)

cm{1)= dsin(alpha)%dsin{beta) *dcos (gamma)+dcos (alpha) ¥dsin{gamma)
em{2)= ds|n(alpha)*d51n(heta)*d31n(gamma)+dcos(a|pha)*dcos(gamma)
em(3)=-dsin{alpha)%dcos (beta)
cn(1)=-dcos(alipha) %dsin(beta) *dcos (gamma) +dsin{alpha) ¥dsin{gamma)
¢en(2)= dcos(alpha)*dsin{beta)*dsin(gamma)+dsin{alpha)%dcos {gamma)
gn(3)= dcos (alpha)*dcos (beta)

o i=1,3

sl (i)=dacos(c](i))*180. /pi

sm(i)=dacos(cm(i))*180. /pi

sn{i)=dacos(cn(i))*180. /pi

end do

U a3y J F5A hT
do made=2, 1, -1
do i=1, made
Pf(x(i) < x(i+1)) then
wrkx=x(i) : walp= s!I (i)
whta= sm{i) ; wema= sn(i)

xCi)= x(i+1)  ; sICi)= sI(i41)
sm(i)= sm(i+1} ; sn(i)= sn(it+1)

x(i+1)=wrkx ; sl(i+t)= walp
sm(it1)= whta ; sn(i+1)= wegma
end if
end do
end do

if(icovar==1) write(¥,'(a)') ' Calculation has normaly finished!’
open(2, file="SI. dat’)

write(2, ' (a, e12.4)") "Calculation Error Value=", fmin

write(2,’ (/a)') "Principal Stress(MPa)’



write(2,’ (a)") t_1(max) t 2(mid) t_3(min)’
write(2,’ (3e12 4) Y x(1), x(2), x(3)

write(2,’ (/ a) ) Directional C05|n( )’

grlte(z (@) i 1_i m_i n_i'
w?é{e(Z (i1, 3(2x, 6. 0))") i, s1(i), sm(i), sn(i)
$2|te(2 (/a) ) Stress Components in x, v, z(MPa)’

write(2,' (a)') ' txx tyy tzz'
write(2,’ (3e12.4)") -txx0, ~tyy0, -tzz0 ,
write(2,’(a)’) ' txy tyz txz

write(2,’ (3212.4)') -txy0, -tyz0, ~txz0

write(2,’ (/a)') ’for Schmidt net data’
do i=1, 3

schmdt (i) (1: D="N'

1£(90. -sm(i)>0.) schmdt{i)(3:3)="§
1090. -sm(i)<0.) schmdt(i)(3:3)=" '
dip(i)= dint(dabs (90. -sm(i)))}

if(st(i)> 0. )and s1(i)< 90.) then

schmdt (i) (2:2
strk{i)=dint(90. -st (i))
else |f(sl(|)>90 and. $1(i)<180.) then
schmdt (i) (2:2)=
strk(|)=d|nt(sl(|) 90.)
end if
write(2, (a, il,a a 13,2 i3,a)") " t_ ', i, : ', schmdt(i) (1:1),
) strk(l),schmdt(l)(2 2), dip(i), schmdt(l)(3 3)
end do
close(?)
end

subroutine fcng(nn, x, f, g igrad)

implicit double precision(a-h, 0~2)

dimension gg(3), g2(3), at(3), tzz(3)
& cl(3), cm(3),cn(3) gauge(3 3) OVOr(S 6) ovoi (5, 8), ovIm(5, 6),
& ovir(15,16), ovii (10, 1), p(2),x(nn , g{nn)

real%8 kp(3), kk, kh(2), kt(Z) micro

complex%16 ai, zz,zv,carte,polar.uu,aa( 1:1), cc(-1: 1)
& bb(-2: 2),ah(3 -1:3),bh(3,-2:2}, ¢ch(3, ~1:1), chi (3, 0:1
% phi(3,0:2), psn(3 0: 2) pht (3, 0: 2) pst(3,0: 2)

data pi, eps/3. 1415926535897932, 1. e-12/

common/area]/r(o 2}, xnu (3), ee(3) dgp, strn(3, 3),
& txx0, tyy0, txy0, tzz0, tyz0, txz0

ai=(0.,1.)

micro=1. et6

alpha= x{4) *pi/180.
beta = x(5)*pi/180.
gamma= x (6) ¥pi/180.

cl(1)= dcos (beta) *dcos (gamma)
cl(2)= -dcos (beta) ¥dsin(gamma)
¢l (3)= dsin(beta)

em(1)= dsin(alpha) #dsin(beta)%dcos (gamma)+dcos (alpha) *dsin{zamma)
cm{2)=—dsin(alpha)dsin{beta)*dsin(gamma)+dcos (alpha)*dcos (gamma)

cm(3)=-dsin{alpha) *dcos (beta)

cn(1)=—dcos(alpha)*dsin(beta) *dcos (gamma) +dsin{alpha)*dsin(gamma)
en(2)= dcos(aipha) #¥dsin(beta)*dsin{gamma)+dsin(alpha)*dcos (gamma)

cn(3)= dcos (alpha) *dcos (beta)

txx0=— ¢l (D22 % x(1) - cl (@) %%2 % x(2) - c1(3)#%2 % x(3)
tyy0=— cm{1)*%2 % x(1) - em(2)%%2 % x(2) - cm(3)#%2 * x(3)
tzz20=- cn(1}#%2 % x(1) - cn(2) %2 % x(2) - cn(3)*x2 * x(3)



txy0=—c! (1) %em(1) ¥x (1) —c|(2)%em(2)*x(2)
tyz0=—cm{1) %cn (1) %x (1) —cm(2) *cn(2) *x(2)
txz0=—cn (1) %c1 (1) %x (1) —cn(2) *cl (2)¥x(2)

do i=1,3

kp(i)= 3. -4. #xnu(i)

gg(i)= ee(i)/(2. (1. +xnu(i)}) ; g2(i)= 2.

end do

~¢1(3) #cm (3} #x(3)
~cm(3) %cn (3) %x(3)
~en(3) %c1 (3} %x(3)

*gg (i)

! Coefficients for pilot drilling
(txx0+tyy0) /4.
aa(-1)= r (1) x£2% (txx0-tyy0) /2. +ai%r (1) *%2%txy0

aa( 1)=
bb( 2)=

(tyy0-txx0) /4. +ai%

txy0/2.

bh(-2)= r (1) %x4% (tyy0-txx0) /4. -ai%r (1) $x4xtxy0/2.

kk
cc( 1)=

l=—=|n-plane-—

I real part
do i=1,15 ;
ovir(i, j)=0.
end do ; end do
ovir(1, 1)=

=-r (1) %524 (txx0+tyy0) /2.

c txz0-ai*tyz0
cc(-1)= r(1) %52 (tx20+aixtyz0)

r(0) %%3 ;

do j=1, 16

ovir(1, 3)=-1./r (0)

ovir(1, 8)==2. /r(0) %*3

ovir(2, 2)= 2. %r(0) covir(2,6)= 1. /r(0)
ovir(3, 1)= 3. %r(0)%*3 ; ovir(3, 3)=1./r(0)
ovir(3, 4)= 2. %r(0) -

ovir(4, 1)= r (1) $%3 ; ovir{4, 3)=-1./r(1)
ovir(4, 5)=-2. /r(1#%3 ; ovir{4, T)=— r(1)*%%3
ovir(4, 9= 1. /r(1) ;ovir(4,11)= 2. /r (1) %43
ovir(5 2)= 2. #r(1) coovir(s, 6)=1./r(1)
ovir(s, 8)=-2. %r(1) coovir(s, 12)=-1. /r(1)
ovir(6, 1)= 3. %r(1)}%%3 ; ovir(6, 3)=1./r(1)
ovir(6, 4)= 2. #r(1) ; ovir(g, T)=-3. %r(1)*%3
ovir(6, 9=-1./r(1) :ovir(e, 10)=-2. %r (1)
ovir(7, 1= kp(1) #r(1)%x3/gg(1)

ovir(7, 3)= 1 /Cr(1)  %gg(1))

ovir(7, 5)= 2. /{(r(1)*x32gg(1))

ovir(7, 7)=— kp(2) *r(1)*%3/gg(2)

ovir(7, 9=-1.  /(r(1) #gg(2))

ovir(7, 1= 2.  /(r(1)*+3%gg(2))

ovir(8, 2)=-(1.-kp(1))*r (1) /ge(1)

ovir(8, 6)=— 1. /(r(1)  xge(1))

ovir(8, 8)= (1.-kp(2)}#r(1)/ez(2)

ovir(s, 12)= 1. /(r (1) *gg(2))

ovir( 8, 1)=-3.  #r(1)%%3/gs(1)

ovir( 8, 3)=kp(1)/(r(1) #*gg(1))

ovir( 9, 4)=-2.  #r(1) /eg(1)

ovir( 8, 7= 3. #r(1)%3/gg(?)

ovir( 9, 9=-kp(2)/(r(1) %ge(2))

ovir( 9,100= 2.  #r(1) /ee(®

ovir{(10, 7)= r(2) %%3

ovir(10, 9)==1. /r(2)

ovir(10, 11)=— 2.  /r(2)%%3

ovir(10, 13)=- r{2) %3

ovir{(11, 8)= 2. %r(2) soovir{11,12)= 1. /r(2)
ovir(11, 14)=-2. %r(2)

ovir{12, 7)= 3. %r(2)%%3 ; ovir(12, 9= 1./r(2)
ovir(12, 10)= 2. %r(2) soovir{12, 13)=-3. %r (2) %3
ovir(12, 15)=-2. #r(2)

ovir{i3, D= kp(2) #r(2)%%3/ge(2)

ovir(13, 9)= 1. /(r(2)  #zg(2)
ovir{(13, 11)= 2 7 (r(2) *3%gg(2))
ovir(13,13)=—  kp(3) *r(2)*%3/2g(3)

ovir(14, 8)=- (1 -kp(2))%r(2) /gg(®)

ovir(14, 12)=- /(e (2)  *gg(2))



ovir(14, 14)= (1. kp(®))*r(2) /gg(3)

ovir(is, 7)=- 3.  *r(2)%%x3/gg(2)

ovir(15, 9= kp(2)/(r(2) *gg(2))

ovir(15,10)=- 2.  #r(2) /geg(2)

ovir(15,13)= 3. #r(2)**3/gg(3)

ovir(15,15)= 2. *r(2) /gs(3)

ovir(l, 16)= r(1)#£2/(2. %r(0))% (1. -(r (1) /r (0)) *%2) % (txx0-tyy0)

ovir(2 16)= 1.7 2. %r(0) #((r(1)/r(0))*%2-1.) % (txx0+tyy0)

ovir(3, 16)= 1./ 2. %r(0) #(1.-(r(1)/r(0))*%2) % (txx0-tyy0)
| imaginary part

do i=1,10 ; do j=1,11

ovii(i, j)=0.

end do : end do

ovii (1, D= r(0)#3 ; ovii(l, )=-1./r (0}

ovii{l, 4)=-2. /r{0) %3

ovii (2, D= 3. 2r(0)%%3 ; ovii(2 2)=-1./r(0)

ovii(2 3)= 2 %r(0)

ovii (3, D= r(D%%3 ; ovii(3, 2)=-1./r(1)

ovii(3, )=-2./r(1)*x3 ; ov:|(3 5)= r{1)%%3

ovii(3,6)= 1./r(1) covii(3,8)= 2 /r(1)%x3

ovii(4, D= 3. 2r(1)%%3 ; ovii(4, 2)=-1./r(1)

ovii(4,3)= 2 %r(1) < ovii(4, 5y=-3. £r (1) %3

ovii(4,6)= 1./r(1) ; OV||(4,T)-—2 £r (1)

ovii (5 D=—kp(D%r (1) #x3/gg(1) ; ovii(5 = 1. /{r (1} *ge(i})
ovii(5 4)= 2 /(r(l)**S*gg(l)), ovii(5, 5= kp(2) #r{(1)*%3/ge(2)

ovii(5, 6)=— 1. 7(r(1) #gg(2)): ovii(5 8)=— 2. /(r(1)*#3*gg(2))
ovii(6, 1)=- 3. #r(1)%3/eg(1) ; ovii(6, 2) ==kp(/(r(1)  %gg(1))}
ovii (6, D=- 2. r(1) /ege(l) - oviils, 5)= 3. #r(1)#x3/gg(2)

ovii (6, 6)= kp(2)/(r(1) #*gg(2)), ovii(6 7= 2 #r() /eg(®

ovii({7, 5)= r(2)%x3 ; ovii(7,6)=-1./r(2)

ovii (7, 8)=-2 /r(2)%x3 ; ovii(7,9)= r(2)%%3

ovii(8, 5)= 3.%r(2)%x3 ; ovii(8, 6)=-1./r(2)
ovii(8, T)= 2. %r(2) ©ovii(8, 9)=-3. %r(2)x%3
ovii(8, 10)=-2. ¥r(2)
ovii( 9, 5)'-kp(2)*r(2)**3/gg(2)
ovii{ 8 6)= /(r(2) =gg(2))
ovii{ 9, 8)= 2 /{r(2) %%3%gg(2))
ovii{ 9, 9)= kp(3)*r(2)%*3/gg(3)
ovii (10, 5)=- 3. #r(2)*%3/gg(2)
ovii(10, 6)=-kp(2)/(r(2) *ge(2))
ovii (10, Ty=- 2. #r(2) /ge(?)
ovii (10, 9)= 3. #r(2)*¥3/gz(3)
ovii{10,10)= 2. #r(2) /eg(3d)
ovii (1, 11)= r(1)#x2/r (0)*(1. —(r(1)/r(0))**2)*txy0
ovii(2 11)=- r(0)* (1. = (r (1) /r(0)) %%¥2) txy0
call gauss{ovir, 15, 15, 16, eps, ieir)
call gauss(ovii, 10, 10, 11, eps,lell)
ifCieir /= 0) wrlte($ (a,|3) )y’ |e|r- ieir
if(ieii /= 0) wrlte(* (a, i3)’) Tieii=', leii
! Coefficients for overcoring
ah(1, 3= ovir( 1,16) + ai %ovii( 1,11}
ah(1, 1= ovir( 2, 16)

ah(1,-1)= ovir( 3, 16) + ai %ovii( 2, 11)
bh(i, 2)= ovir{ 4,16) + ai %ovii( 3, 11)
bh(1, -2)= ovir( 5, 16) + ai %ovii( 4, 11)
kh(1) = ovir( 6, 16)

ah(2, 3)=ovir( 7,16) + ai %ovii( 5, 11)
ah{2, D= ovir( 8, 16)

ah(2,-1)= ovir( 9, 16) + ai %ovii( 6, 11)
bh(2, 2)= OV|r(10 16) + ai #ovii{ T 11)
bh(2, -2)= ovir(11,16) + ai %ovii( 8, 11)
kh(2) = ovir(12, 16)

ah(3, 3)= ovir(13,16) + ai %ovii( 9, 11)

ah(3, 1)= ovir(i4, 16)
bh(3, 2)= ovir(15, 16) + ai %ovii(10, 11)



I-—-Qut-of-plane-—
do i=1,5 ; do j=1,06
ovor(i, j)= 0. : ovoi(i, j)= 0.

end do ; end do

! real part
ovor(1, 1= r(0) ; ovor(l, 2)=-1. /r(0)
ovor(2,1)= r(1) : ovor(2, 2)=-1./r(1)
ovor (2, 3)=— r(1) ; ovor(2,4)= 1./r(1)
ovor (3, 1)= r(1)/ge(1) ; ovor(3, 2)= 1. /r{1)/ge(1)
ovor (3, 3)=- r(1)/eg(® ; ovor(3, 4)=-1./(r(1)*ge(2))
ovor(4, 3)= r(2) : ovor{4, 4)=-1. /r(2)
ovor (4, 5)=~

r(2)
ovor (5 3)= r(2)/gg(2) ; ovor (5, 4)= 1. /(r(2)2ge(2))
ovor (5, 5)=-r{(2)/gg(3)
ovor(l,6)=-r(0)$(1.—(r(1)/r(0))**2)*txzﬂ
! imaginary part
ovoi (1, 1)= r{0)} ; ovoi(1,2)= 1. /r(0)
ovoi (2, 1)=r(1) : ovoi (2, )= 1./r(1)
ovoi (2, 3)=-r(1) ; ovoi(2, 4)=-1./r(1)
ovoi (3, 1)= r(1)/egg(1) ; ovoi(3, 2)=-1./(r(1)*gg(1))
ovoi (3, 3)=-r(1)/gg(2) ; ovoi(3, 4}= 1./(r(1)%gg(2))
ovoi (4, 3)= r(2) - ovoi(4, &)= 1. /r(2)
ovoi (4, 5)=-r(2)
ovoi (5 3)= r(2)/ge(2) ; ovoi(5 4)=-1./(r(2)*ge(2))
ovoi (5, 5)=-r(2)/g2(3)
ovoi (1, 6)= r(0)*(1. -(r (1) /r(0)) x%2) $tyz0
call gauss(ovor, 5, 5, 6, eps, ieor)
cal) gauss{ovoi, 5 5, 6, eps, ieoi)
if(ieor /= 0) write(¥, ' (a, i3)’') 'ieor=', ieor
if(ieoi /= 0) write(*,' (a, 13)’) ’ieoi=’, ieoi
ch(1, 1)= ovor(1,6) +ai *ovoi (1, 6)
ch(1,-1)= ovor(2,6) +ai %ovoi(2, 6)
ch(2, 1)= ovor(3,6) +ai %ovoi(3,6)
ch(2,-1)= ovor(4,6) +ai %ovoi(4, 6)
ch(3, 1)= ovor(5,6) +ai %ovoi(5, 6)
i---Longitudinal modification—
do i=1,5 ; do j=1,6
ovim(i, j)=0
end do ; end do
ovimn{l, = 1.
ovim{1, 4)=(r (1) $%2-r (2) £%2) / (r (0) %%2-r (1) %2)
ovim(1, 5)= r(2)*x2 S (r(0) x2-r (1) %%2)
ovim(2, )= 2. $(xnu{1) /(e () ({r (0} /r (1)) $x2-1.
& -xnu(2}/ (ee(2)%((r (2} /r (1)) %x2-1.
ovim(2, 2)=-2. % xnu(2)/(ee(2)x((r(1)/r(2))*x2-1.
Jee(1) ; ovim(2, 4)=-1. /ee(2)
% xnu(2)/(ee(2)x({r(2)/r(1))xx2~1.
=2, 5 (xnu(2) /(ee Q) ((r (1) /r(2) ) %2-1.
/

ovim(2,
ovim(3,
ovim(3,
&
ovim(3,
ovim(4,

&
&
&

L1

+xnu(3)/ ee(3))
-1. /ee(2) ; ovim(3, 5= 1. /ee(3)
GO /e () #x24xnu (D #((r (0) /r (1)) #x2-1.))
e(D)x((r(0)/r (1)) %%2-1.))
+(r(2) /r (1)) #x24xnu () ¥ ((r (2) /r (1)) ¥%2-1.))
(2)5((r(2)/r (1)) #52-1.))
ovim(4, 2)= (ee ()% ((r(1)/r(2))*x2-1.))
ovim(4, 3) Ei)/ee(l) : ovim(4, 4)-—xnu(2)/ee(2)
e
(

— P = O PO
R i i

1
(1
(e
(.
(e
2.

l""-.l“‘-.

g
/
xnu
ovim(5, 1)=-2. /(ee(2)x(r (2)/r (1)) %%2-1.)

ovim(5s, 2)==((r (1) /r (@) £x2+1, +xnu(2) % ((r (1) /r(2) ) $%2-1.))
& /lee (D ((r(/r(2))+£2-1.)) -(1. -xnu(3)) /ee (3)
ovim(5, 4)=-xnu(2)/ee(?) ; ovim(s 5)= xnu(3)/ee(3)

ovim(1, 6)=—tzz0~xnu (1) % ((r (1) /r(0)) #x2-1. ) ¥ (txx0+tyy0)

call gauss{ovim 5,5, 6, eps, ielm)

ifCielm /= 0) write(®, '(a, i3)") "ielm=", ielm
p(1)=ovIim(1,68) ; p(2)= ovim(2, 6)

tzz()= ovIm(3,6) : tzz(2)= ovim(4,6) ; tzz(3)= ovim(5, 6)



! Coefficients for longitudinal modification
at(1)=— r(1) %2 #p(1) /(2. % (r{0) £%2-r (1) ¥x2))
ag(g)i (r(1)**2*p(1)—r(2)§*2*p(2))5(§.*(r(l)**z-r(z)#*z))
ﬁt(l); (r (D) #r (1)) #%2 *g(l) 7O r(0)yx%2-r (1) $x2)
kt(2)=-(r (1) #r(2)) 225 ((1)-p(2) )/(  r(1)%x2-r(2)%%2)

thp= dgp*pi/180.

rr = r{2)/2.
err= 0.
do ip= 1,3

tho= thptdblie(4%ip=3) /6. *pi
tht= thp+dbie(3-ip )/3. #pi
7z = rrkcdexp{ai*th0) ; zv = dconje(zz)

I---Complex potentials caused by overcoreing-—-

1 for In—plane
phi (1, 0)= ah (1, 3) %zz%%3+ah (1, 1) 2zz+ah(1, 1) /zz
phi (1, 1)= 3. #ah(1, 3) $zz#*24ah (1, 1)  -ah(l1, -1) /zz%¥2
phi (1, 2)= 6. *ah(1, 3) %zz +2. %ah{1, -1) /2z%%3
psi (1, 0)= kh(D*cdlog(zz) +bh(1, 2)%zz*2+ bh(1, -2) /zz%%2
psi (1, 1)= kh(1)/zz +2. #bh {1, 2) $zz -2. ¥bh (1, =2) /zz**3
psi (1, 2)=-kh(1)/zz¥%2 +2. ¥bh {1, 2) +6. bh (1, -2) /zz%%4
phi (2, 0)= ah(2, 3) xzz%%3+ah (2, 1) %zz+ah (2, -1} /zz
phi (2, 1)= 3. ¥ah(2, 3) #zz#x2+ah (2, 1)  -ah(2, -1)/zz%%2
phi (2, 2)= 6. ¥ah(2, 3} %zz +2. %ah (2, -1) /zz%%3
psi (2, 0)= kn(2)#cdiog(zz) +bh (2, 2) *zz%%2+bh (2, -2) /zz*¥2
0si (2, 1)= kh(2)/zz + 2. %bh(2, 2) ¥zz-2. ¥bh(2, -2) /zz%+3
psi (2, 2)=-kh (2) /zz%%2+ 2. $bh(2, 2)  46. ¥bh{2, -2) /zz%%4

phi (3, 0) = ah{3, 3) %zz%%3+ah (3, 1) %zz; psi(3 0)= bh (3, 2) $zz#%%2
phi (3, )= 3. %ah(3, 3) $zz#%2+ah(3, 1)  ; psi(3, 1)= 2. ¥bh(3, 2} %22

phi (3, 2)= 6. %¥ah (3, 3) *zz : psi(3, 2)= 2. xbh(3, 2)
| for expansive dispiacement url by tzz0

iv
pht(1, 0)= at(1)%zz ; pst(1,0)= kt(1)*cdlog(zz)
pht (1, 1}= at(1) © opst(1, )= kt(1)/zz
pht(1,2)= 0. : opst(l, 2)=-kt{1)/zz%%2
pht (2, 0)= at(2)%zz ; pst(2, 0)= kt(2)*cdlog(zz)
pht (2, 1)= at (2} vopst(2,1)= kt(2) /22
pht(2, 2)= 0. « pst(2, 2)=—kt (2)/zz%%2
pht(3,0)= at(3)%zz ; pst(3, 0)= 0.
pht (3, 1)= at(3) : pst(3, 1)= 0.
pht(3, 2}= 0. . pst(3, 2)= 0.
1 for out-of-plane
chi {1, 0)= ch(1, 1) *zz4+ch(1, -1)/zz
chi (1, D= ch(1,1) -ch(1, -1)/zz%%2
chi (2, 0)= ch(2, 1) *zztch(2, -1)/zz
chi (2, 1)=ch(2,1) -ch(2, ~1)/zz%%2
chi(3,0)= ch(3, 1)%zz

chi (3, 1)=ch(3, 1) '
! In-plane expansive displacement ur0 caused by tzz0
ur0=-rrtzz (3 £xnu(3) /(1. +xnu(3))
I Cartesian co. sys.
carte= zvk(phi (3, 2) tpht (3, 2)) +(psi (3, 2)+pst (3, 2))
polar= cartetcdexp(2. %ai*th0)
txx= 2. ¥dreal (phi (3, 1) +pht(3, 1)) -dreal{carte)
tyy= 2. %dreal {phi (3, 1} +pht (3, 1)) +dreal (carte)
txy= dimag(carte)
txz= dreal (chi(3, 1)) ; tyz=—dimag{chi (3, 1))
uu= kp(3) *dconje{phi (3,0))
&+ (3. -xnu(3))/(1. +xnu(3)) *dconje{pht (3, 0))
& - zvx(phi (3, D+pht (3, 1))-(psi(3, 1)+pst(3, 1))
& + cdexp(-ai*th0)*ur0
ux= dreal (uu) /g2(3) ; uy=—dimag(uu)/g2(3)
! Polar co. sys.
trr= 2. %dreal (phi (3, 1) +pht (3, 1)) ~dreal (polar)
tth= 2. %¥dreai (phi (3, 1) +pht(3, 1)) +dreal (polar)



trt= dimag(polar)
trz= dreal (cdexp (ai*th0)%chi (3, 1))
ttz=—dimag(cdexp (ai*th0d)*chi (3, 1))
ur= dreal (cdexp(ai%th0)*uu) /g2 (3)
ut=—~dimag (cdexp (ai*th0) *uu) /g2 (3)
uz= dreal (chi (3, 0})/ee(3)
! strain
exx=(txx -xnu(3)*(tyy +tzz(3)))/ee(3)
eyy=(tyy —xnu(®)£(tzz(+txx ))/ee(3)
ezz=(tzz () -xnu ()% (txx +tyy ))/ee(d)
exy= txy/ge(3) ; exz= txz/ge(3) : eyz= tyz/ge(3)
! Gauge strain
gauge(ip, 1)= ezz
gauge(ip, 2)= exx*dcos (tht) %%2+eyykdsin(tht) %2
& + exykdsin(tht) #dcos (tht)
if(ip == 1) then
gauge(ip, 3)= 1. /2. % (gauge(ip, 1) +gauge{ip, 2)
& teyzsdsin(tht-pi)+texzxdcos (tht-pi))

else
gauge(ip, 3)= 1. /2. #(gauge(ip, 1) +gauge(ip, 2)
& -eyzxdsin(tht-pi)-exz*dcos(tht-pi))
end if
do j=1,3

if(strn(ip, j)== 0.) gauge(ip, j)= 0.
err = err +( (strn(ip, j)-gauge(ip, i) ¥micro)/stro(ip, j) )*%2
end do
end do
f=err
return
end

subroutine gauss(a, I, m, n, eps, ierr)

implicit double precision {a-h, 0-z)

integer work (500)

real*8 a(l, n)

if (m 1t 2 or.m gt. 500. or. m. ge. n. or. eps. le. 0. ) then

ierr=999
else
do 10 i=l,m
work (i) =i
10 continue
do 70 k=1, m
wmax=0.
do 20 i=k, m

w=dabs (a (i, k})
if (w. ge. wmax} then
wmax=w
br=i
endif
20 continue
pivot=a(lr, k)
api=dabs (pivot)
if (api. le. eps) then
jerr=1
return
endif
if (lr.ne.k) then
iw=work (k)
work (k)=work (1r)
work (I r)=iw
do 30 j=1,n
: w=a (ki .l)
alk, j)=a(lr, J)
allr, J)=w
30 continue



endif
do 40 i=k, n
alk, i)=alk i)/pivot
40 continue
ki=kt1
if (k1. gt.m) goto 80
do 60 i=kl, m
w=a(i, k)
if (w.ne.0.) then
do 50 j=kl, n
a(i, j)=a(i, j)-wialk, j)
50 continue
endif
60 continue
70 continue
80 m1=m+1
do 110 k=ml, n
me=m-1
do 100 i=1, m2
il=m—i
i2=i1+1
id=mt+i2
x=0.
do 90 j=i2,m
j1=i3-j
x=x+a (i1, jD*a(j1,k)
%0 continue
a(il, k)=a(il, k)~x
100 continue
110 continue
jerr=0
endif
return
end

SUBROUTINE DAFLEP (FCNG, N, X, EPSF, EPSX, VTEST, NCUT, XD, JOKEN, XMAX,
& XMIN, IPRINT, |GRAD, FMIN, KAISU, ICOVAR, W, NW)
C #xkkgxvdiibds LIBRARY HEADER di¥tkiididdiiiidribirkifrdiirsirsiss
C10 DAFLEP; MINIMIZATION OF FUNCTION BY THE METHOD OF
C11 DAVIDON-FLETCHER-POWELL-FLETCHER
€20 SUBROUTINE
C40
C50
C70
¢80
C90 SUBPROGRAM CALL ... SWITCH, MATCOR, GRAD, INVERT
€ #kprdirddrribirikiroikipphirbiibiabkbiisbibe bbb pbb i b s riivi st

¢CCC

cC PERFORMS A LOCAL FUNCTION MINIMIZATION USING BASICALLY THE
cC METHOD OF DAVIDON-FLETCHER-POWELL AS MODIFIED BY FLETCHER
CC REF. -- FLETCHER, COMP.J. 13(1970),317.  "SWITCHING METHOD"
CCC THES PROGRAM 1S A PART (MIGRAD) OF THE MINUIT WRITTEN

CCC ORIGINALLY BY F. JAMES AND M. ROOS AT CERN (1976),  AND I$
cCcC IMPROVED BY T. KOTANI(1978) TG ENROL 1T IN THE PROGRAM
EEEC LIBRARY OF THE OSAKA UNIVERSITY

cC NW(= DIMENSION OF WORKING AREA) SHOUD BE . GE. Nx(2¥N+8)
‘ IMPLICIT DOUBLE PRECISION(A-H, 0-2Z)

DIMENSION X (N}, XD (M), XMAX(N), XMIN(N), w(Nw)

EXTERNAL FCNG

M=N

ROSTOP = 1. OE-1 % EPSF
open(6, file="daflep. dat’)

IF (IPRINT. LE. 0) WRITE(6, 1100)

CCC



IF{IPRINT. LE. 3) WRITE(6, 1120)
IF(IPRINT. LE. 0) WRITE(6, 1130) EPSF, EPSX, ROSTOP, VTEST, NCUT

up = 1.0

NG =1

NG2 = NG + N
NGS = NG2 + N
NXS = NGS + N
NR = NXS + N
NVG = NR + N
NY = NVG + N
NE = NY + N
NP = NE + N
NV = NP + N¥N

NAL = NV + N#N - 1
IF(NW. GE. NAL) GO TO 5
WRITE(6, 1020) NW, NAL
GO TO 20
Chgkdx
5 IF(IPRINT. LE. -2) WRITE(6, 1000} NW, NAL
CALL SWITCH(M, X, XD, XMAX, XMIN, JOKEN, FMIN, KA1SU, NCUT, EPSF, W(NV), UP,
& ICOVAR, IPRINT, VTEST, |GRAD, W(NG), W(NG2), W(NGS), W (NXS), W(NR),
& W(NVG), W(NY), W(NP), EPSX, ROSTOP, W(NE), FCNG)
20 RETURN
close(6)
Chdkkx
1000 FORMAT (1HO, 20X, "DIMENSION OF W =', 17, 4%, "USED DIMENSION =', 16)
1020 FORMAT (1HO, 20X, ' THIS PROGRAM CAN NOT BE PERFORMED, BECAUSE THE',
& ° GIVEN DIMENSION OF W (NW)=", I7/1H , 40X, 13H IS . LT. THE,
& ’REQUIRED DIMENSION (', 17,2H ))
1100 FORMAT (1H1)
1120 FORMAT (1HO, 12X, 96 (1H%) /1HO, 20X, ' START DAFLEP MINIMIZATION' /1H
& 25X 'DIVIDON-FLETCHER-POWELL-FLETCHER METHOD')
1130 FORMAT (1HO, 35X, ' CONVERGENCE CONDITION-— VAR. OF F .LT. EPSF =',
& G12.4/1H , 60X, "MAX. VAR, OF X .LT. EPSX =, G12. 4/1H , 60X,
& 'OR ESTIMATED DISTANCE TO MINIMUM . LE. 0. 1%EPSF =", G12. 4/1H ,
& 60X, " OR FRACTIONAL CHANGE OF VARIANCE MATRIX .LT. VTEST, 2H =
& G12.4/1H , 60X 'MAX. NO. OF CALLING FCNG (NCUT) =', I6)
END

SUBROUTINE SWITCH(N, X, XD, XMAX, XMIN, JOKEN, FMIN, KA1SU, NCUT, EPSF, V,
& UP,[COV?R,IPRINT.VTEST.IGRAD,G,G2,GS.XXS,R,VG.Y,P,EPSX,RDSTOR
& XE, FCNG

IMPLICIT DOUBLE PRECISION(A-H, 0~2)
DEMENSION X (N), XD(N), XMAX (N), XMINCN), GCN), G2 (N), GS(N), XXS(N), R(N),
& VG, Y(N), PN, N), VN, N), XE(N), FST(3), DIST(3)
EXTERNAL FCNG

COMMON/ INATOL/ JPRINT

Cccce

open(s, file="switch. dat’)

M=N

MO = N-1

JPRINT=IPRINT

IE(N. LE. 0) RETURN

NPFN=KAISU

KA1SD=KAISU+1

C IF(KAISD. EQ. 1} CALL BUNKA

IABSF = ICOVAR

ICOVAR=0

PARN = dble(N)

RHG?2 = 10.0 % EPSF

| GNAL=0

NX =10

TRACE=1.

NIN =10

ce



233

Ckkkk

1

235

2001

250
260

{ER = 0

KOUNT = 8000
DO 233 I=1, N
XE(I) = XD(I)

IF(XE(D). GT. 0. 1) XE(I) = 0.1
IF(XE(1). LT. 0. 0001) XE(I) = 0. 0001
EPSXS = 0.1 % EPSX
CALL FCNG(M, X, FMIN, G, 0)
KAISU=KAISUHT
IFCIPRINT. LE. 3) WRITE(S, 1111) FMIN
IFCIPRINT. LE. 1) WRITE(S, 1112) N
[FCIPRINT. LE. -2) WRITE(5, 1011)

GO TO 235

IF(IPRINT. LT. 2) WRITE(5, 1020)

|F (KOUNT. GE. 8005) GO T0 225

NIN = NIN + 1

IFCIPRINT. LE. 3) WRITE(5, 1170) NIN
NCYCL = O

KOUNT=KOUNT+H1

IECIPRINT. LE. 1) WRITE(S, 1122) KOUNT, KAISU, FMIN, (X(J}, 4=1, N)

IF(IPRINT. LE. -2) WRITE(5, 1021) IGNAL, IER
. . . . STEP S1ZES XD(I) . . .

DO 3 I=1,

N
DE = XEéi% % dble (KOUNT-8000) % dABS(X(1))

IF (DE. L
XD(1)=DE

FS = FMIN

NTRY = 0

NEGG2 = 0

D0 10 I=1,
NLIMIT = 0
D=xp (1)
XTF = X(I)
X() =XTF + D
CALL FCNG(M, X, FS1, G, 0)
KAISU=KA1SU+1
X)) =XTF - D
CALL FCNG(M, X, FS2, G, 0)
KAISU=KAISU+1
X({1) = XTF
GS(1) = (FS1-FS$2)/(2. 0%D)
G2(1) = (FS1+FS2-2. 0%FMIN) /D/D
WRITE (5, 2001) 1, G2(1)
FORMAT(/, 5% ' G2(,13,7)=",E15. )
IF (G2(1). GT. 1. OE-30) GO TO 10

[FCIPRINT. LT. 2) WRITE(S, 1015) |
NEGG2 = NEGG2 + 1

NTRY = NTRY + 1
IF{NTRY. GT. 4) 1ER=91

IF (NTRY.GT. 4) GO TO 230

D = 50. 0%DABS (XD (1))

XBEG = XTF

KG=0

NF =0

NS =0

NLT = 0

XNT = XTF + D

IF (JOKEN. LE. 0) GO TO 280
XMT = XNT

IF(XNT-XMAX (1)) 250, 260, 260
IF(XMINCI)-XNT) 280, 260, 260
NLT = NLT #+ 1

0E-20) DE = XE(1) % dble{KOUNT-8000)

STARTING GRADIENT

. SEARCH IF G2 .LE. 0. . .



Chkkdk
270

275
280

285

290

10
2002

11

12

2004
13

15

IF(NLT. GE. 10) GO TO 270

D=-D%07

GO TO 5

IF (XNT. GT. XMAX(1)) XNT = XMAX(!)
IF(XNT. LT. XMINCI)) XNT = XMINCID)

D = XNT - XTF

IF(D) 275,7, 275

NLIMIT = NLIMIT + 1

IFCIPRINT. LE. 1) WRITE(S, 1165) 1, XMT, XMINCD), XMAX (I}, D

X({1) = XNT

CALL FCNG(M, X, F, G, 0)

KAISU=KA|ISU+1

IF(F-FMIN) 6, 285, 290

D=-D% 3.0

NS = NS + 1

IF(NS-10) 5, 5,6

FAILURE

[F (KG.EQ. 1) GO TO 8

KG = -1

NF = NF + 1

D = -0. 45D

IF(NF-10) 5, 7,7

SUCCESS

XTF = X(I)

D = 3.04D

FMIN = F

XDD = 0.1 % DABS(XTF)

IF(NLIMIT. EQ. 1) D = - DSIGN(XDD, D)

KG = 1

NS = NS + 1

IF (NS.LT.10) GO TO &

IF(FMIN. LT.FS) GO TO 8

XTF = XBEG

FMIN = FS

G2{1) = 1.0

NEGG2 = NEGG2 - 1

X(1) = XTF

XD(1) = XEC) * DABS(X(I))

IF(XD(1). LT. 1. 0E-20) XD{1) = XE(I)

FS = FMIN

IF(IPRINT. LE. 0) WRITE (5, 1060 KAISU, FMIN, NS, NF, I, (X{I), J=1, N)
CONT | NUE
WRITE(5, 2002) NEGG2, 1COVAR, KOUNT
FORMAT {/, 10X, ' NEGG=", 3, ICOVAR=", 13, KQUNT=", 15)
| GNAL=1GNAL+1
IF (NEGG2. GE. 1) GO TO 4
NTRY = 0
MATGD = 1

...... DIAGONAL MATRIX

|ER=51

IE(ICOVAR. GT. 1. AND. KOUNT. LE. 8002) GO TO 15
NTRY = 1
MATGD = 0
|ER=52
DO 13 I=1, N
DO 12 J=1,N
v(l,J) =0
va, B =1.0/
WRITE(S5, 2004) v
FORMAT (/,’
CONT INUE

SIGMA = 0.
WRETE(5, 2011} (v(1, 1), X(D), 1=1, )

(

G2(1)
)
V(=

",E15.7)

. GET SIGMA AND SET UP LOOP



2011 FORMATC10X,' V{1, 1D=",E15.7,° X(1)=",E15.7)
DO 18 1=1,N
IF (Vi 1).LE.0.) GO TO 11
RI = 0.
XXs(1) = x()
WRITE(5, 2005) XXS{1), GS(I)
2005 FORMAT(/,’ XXs¢1)=',E15.7," GS(1)=",E15.7)
D0 17 J=1, N
17 RI= R+ V({I,J) * GS(J)
18 SIGMA = SIGMA + GS(I) #RI
WRITE(5, 2003) SIGMA
2003 FORMAT(/,’ SIGMA=", E15. 7)
IF (SIGMA. GE. 0.) GO TO 20
IFCIPRINT. LT. 2) WRITE(5, 1020)
IF (NTRY.EQ. 0) GO TO 11
| COVAR=0
|ER=92
GO TO 230
Ckkeis
20 |COVAR=1
NCYCL = 0
LA = 1
LB = 2
LC =3
DIST(LA) =
NLIMIT = 0
ILTB = 0
FST(LA) = F$

24 NCYCL = NCYCL + 1
IGNAL = O
IF(IPRINT. LE. 0) WRITE(5, 1122) NCYCL, KAISU, FMIN, (X{J), J=1, N)
IFCIPRINT. LE. ~2) WRITE(5, 1021) IGNAL, IER
IFCIPRINT. LE. —2) CALL MATCOR(M, V, TRACE, 0, P, VG, R, Y, ICOVAR)
EXD = 1.0 E +30
DO 30 I=1, N
RI = 0.
DO 25 J=1, N
25 RI =Rl + V({I,J) %GS{J)
XD(l) = -RI
IF (DABS (XD (1)). LT. 1. 0E-8) GO TO 30
EPSE = DABS{(XXS(I)) % 0.001
IF (EPSE. LT, 1. 0E-20) EPSE = 0. 001
IF(NIN. LE. 0) GO 70 28
EPSXD = EPSE * EPSX % 10000. 0
EPSE = DMIN1 (EPSE, EPSXD)
28  AEOD = DABS (EPSE/XD(1))
[F (AEOD. LT. 1. 0E-3) AEOD = 1. OE-6/AEQD
EXD = DMIN?T (AEQD, EXD)
30 CONTINUE .
c . LINEAR SEARCH ALONG -VG . . .
c . QUADR INTERP USING 3 POINTS
IER = 0
ILTA = 0
FST(LC) = 0.0
STEP = DMAX1(0. 50+0, DMIN1 (1. 0D4G, DIST(LA)))

DIST(LA) = 0.0
DIST(LC) = 0.0
IFCIPRINT. LE. 1) WRITE(5, 1123) EXD, (XD(J}, J=1, N}
310 IGNAL = IGNAL + 1
320 ILT = 0
0
1

ILTC
NREPT = 0

0.5

..... START MAIN LOOP

uo

inu

ILTR



323 FD = DIST(LA) + STEP
325 DO 330 J=1, N
IF{J. EQ. ILT. AND. NREPT. EQ. 0) GO T0 330
XDFD = XD(J) % FD
X(J) = XXS(J) + XDFD
330 CONTINUE
IF(JOKEN. LE. 0) GO TO 390
K = ILTH
IFIX = 0
IF(K.GT.N) GO TO 390
IF(NREPT. GT. 0) K = ILTR
DO 380 1=K, N
TVAL = X(I)
IF (TVAL-XMAX (1)) 335, 340, 340
335  IF(XMINCI)-TVAL) 380, 340, 340
340  NREPT = NREPT + 1
IF(XXS(1). GE. XMAX (1)) GO TO 360
IFQXXS(1). LE. XMINCI)) GO TO 360
IF (NREPT. GE. 10) GO TO 355
STEP = STEP % 0.9
ILTR = |
GO TO 323
Chkkkd
360 IFIX =1
XD(i) =0.0
355  IF(TVAL. GE. XMAX (1))
IF (TVAL. LE. XMIN(1))
IFCIFIX.GE. 1) GO TO
XDMIN = DABS (XXS (1))
IF (XDMIN. LE. 1. OE-15)
FD = (X(D)-XXS(1))/XD
STEP = FD - DIST(LA)
ILTC = |
370 ILT = |
NREPT = 0
NLIMIT = NLIMIT + 1
IF(IFIX. GT. 0) GO TO 325
IFCIPRINT. LE. =1) WRITE(5, 1165) I, TVAL, XMINCI), XMAX (1), FD
GO TO 325
Crkkxd
380 NREPT=0
390 DIST(LB) = FD
FF(NLIMIT. GT. 10. AND. IPRINT. LE. 0) WRITE(5, 1167)
FF(NLIMIT. GT. 10) GO TO 200
CALL FCNGQM, X, FST(LB), G, 0)
KA1SU=KAISU+1
IF(IPRENT. GE. -1) GO TO 910
WRITE(5, 1122) NCYCL, KAISU, FST(LB), (X(J), J=1, \)
WRITE(5, 1021) [GNAL, 1ER
WRITE(5, 1125) DIST(LB), DIST(LA), DIST(LC)
910 FA = FST(LA)

XMAX (1}
XMINQ)

)
)
EPSX % 10.0
)

It il

Xl
X(l
370

(
(
7
®
% N = EPSX % 10.0

FB = FST(LB)
FC = FST{LC)
DFAB = FA - FB

DDBA = DIST(LB) - DIST(LA)
IF(ILTC. LE. 0) GO TO 430
IF (DFAB. GT. 0. 0) GO TO 405
IF(FD) 430, 405, 430

405 IF(ILTC. EQ. ILTA) GO TO 410
ILTA = [LTC
STEP = 0.1 % STEP
IER = 4
GO TO 320

Chexkk
410 IF(ILTC. EQ. ILTB) GO TO 420



ILTB = ILTC
IER = 5§
GO TO 600
Ckekkx
420 IFCIPRINT. LE. 0) WRITE(5, 1160) ILTB, X(iLTB)
IER = 95
GO TO 200
Ckxikk
430 IF(JGNAL. NE. 1) GO TO 490
440 DBC = (DIST(LB)~DIST(LA))}*(DIST(LC)-DIST(LA))
IF{DFAB. LE. 0. 0) GO TO 470
LT = LA
LA = LB
IF(IGNAL. GT. 1) GO TO 460
IER = ~11
GDEL = 0.
DO 450 [=1,N
450 GDEL=GDEL+XD (1) %GS(I)
DENOM = -DFAB~GDEL#DIST({LB)
1F (DENOM. LE. 0. 0) GO TO 460
STEP = DIST(LB)#*(DFAB+D1ST (LB} #GDEL/2. 0) /DENOM
IF(STEP. GE. 3. 0) STEP = 3.0
GO TO 480
Chkxkrs
460 STEP = 2. O*STEP
IF (DBC. GT. 0. 0. AND. }GNAL. NE. 1. AND. IER. GE. 20) STEP=DISTD - DIST{(LB)
IER = ~11
GO TO 480
Ckrkks
470 IF(FB.LIEFC.AND.DBC.LT.O.O.AND.IER.GE.ZO) GO TO 474
IER = -
STEP = -2. 0%STEP
1E (FB. GT. FC. AND. DBC. GT. 0. 0) STEP= 0. 25%STEP
IF(IGNAL. EQ. 1) STEP = 0. 25%STEP
IF(FB. LE. FC) GO TO 477
IER = -12
IF(IGNAL. EQ. 1) GO TO 477
IF{DBC. GT. 0. 0) GO TO 477
GO TO 485
Chixkx
474 STEP = DISTD - DIST(LA)
IER = -13
477 LT = LB
480 LB = LC
LC = LT
485 IF(STEP. GE. 0. 0.
iF (STEP. LT. 0. 0.
GO TO 310
Ckxkrs
490 DEN=(DIST(2)-DIST(3))+FST{1) + (DIST(3)-DIST(1)) *FST(2)
& + (DIST(1)-DIST(2))%FST(3)
DED =(DIST(1)-DIST(2)) % (DIST(2)-DIST(3)) * (DIST(3)-DIST(1))
IF(DED) 495, 500, 495
495 DE = -2. 0+DEN/DED
IF(DE) 500, 500, 520
500 IF(DFAB. LE. 0.0) GO TO 510
DISTD = DIST(LA) + DDBA % FA / DFAB
GO TO 530
Ckkkxs
510 IF(IGNAL. LE. 13) GO TO 440
ILTB = 0
IER = 6
GO TO 600
Chkidisd
520 |F(DDBA) 525, 500, 525

AND. STEP. LE. 0. 001) STEP = 0. 001
AND. STEP. GE. -0. 001) STEP = -0. 001



525 DISTD = 0. 5%(DIST(LB)+DIST(LA)) + DFAB/(DDBA%DE)
530 ADDA = DABS(DIST(LA)-DISTD)

ADDB = DABS(DIST(LB)-DI1STD)

IF(IER. LE. 0) GO TO 540

VAR = 0.1 % DABS(DISTD)

IF(VAR. GT. 1. 0) VAR = 0. 15%VAR

VAR = DMAX1(VAR, EXD)

| F (ADDB. GT. VAR) GO TO 540

|ER=24
IF(DFAB. LE. 0. 0) GO TO 540
GO TO 600
Ch¥ks
540 ASTEP = dABS(STEP) # 2.0
IER = 20

| F (ADDA. GT. ASTEP) GO TO 510
IF(FB. GT. FA) GO TO 560
DB = dABS(DISTD) - dABS(DIST{LB))
IF(DB.LT. 0.0) GO TO 550
[ER = 25
550 |F(ADDB. LE. EXD) GO TO 600
LT = LA
LA = LB
GO TO 580
Chkkks
560 IF(FB. GT. FC) GO TO 570
LT = LB
[ER=22
GO TO 580
Ckddks
570 LT = LC
LC = LB
|ER=23
580 DDT = DISTD - DIST(LT)
DDA = DISTD - DIST(LA)
STEP = DDA
DDTDA = DDT * DDA
IF(DDTDA. LE. 0. 0) GO TO 590
DDC = DISTD - DIST(LC)
IF (DDC%DDT. GE. 0. 0) GO TO 590
LB = LT
GO TO 310
Ckbkkd
590 LB = LC
LC = LT
GO TO 310
Ckfkxk
600 |F(DFAB.GE.0.0) GO TO 610
DO 605 [=1, N
605 X (1} = XXS{I) + XD{I1)%£DIST(LA)
LT = LB
LB = LA
LA = LT
610 FMIN = FST(LB)
DO 613 I=1, N
613 XD(I) = X(1) - XxS{1)
ccc . CHECK CONVERGENCE CONDITION
DFS = FS - FMIN
IF(FMIN. LE. EPSF. AND. IABSF. EQ. 1) GO TO 164
IF(FMIN. LE. EPSF) GO TO 162
IF (SIGMA+FS-FMIN. LT. ROSTOP) GO TO 162
IF(DFS. GT. EPSF) GO TO 75
IF(KOUNT. LE. 8002. AND. NCYCL. LT. N) GO TO 75
162 NX = NX + 1
DIFX = 0.0
po 73 1=1,N



XRATIO = dABS (1. 0-XXS (1) /X (1))
IF{XRATIO. LT.DIFX) GO TO 73
DIFX = XRATIO
JMAX = |
73 CONTINUE
IF(IPRINT. LE. =1) WRITE(5, 1110) DFS, EPSF, DIFX, EPSX, JMAX
IF(FMIN. LE. EPSF. AND. DIFX. LE. EPSX) GO TO 164
{F(FMIN. LE. 0. 0TEPSF) GO TO 164
{F (DFS) 74, 195, 74
74 IF(DIFX. LE. EPSX) GO TO 164
IF (NX. GE. 6. AND. IPRINT. LE. 0) WRITE(5, 1040) NX
IF(NX. GE. 6) GO TO 200
[F(TRACE. LT. VTEST. AND. IPRINT. LE. 0) WRITE(5, 1050) TRACE, VTEST
IF (TRACE. LT, VTEST) GO TO 164
75 IF (KAISU-NPFN. GE. NCUT) GO TO 190

c . . . GET GRADIENT AND SIGMA .

IF(1GRAD. NE. 1) GO TO 80

CALL FCNG(M, X, FMIN, G, 1)

KAISU = KAISU + 2#N

GO TO 85

Ckekxd i
80 CALL GRAD(M, X, XD, FMIN, G, G2, VG, V, UP, IGRAD, ICOVAR, KAISU, FCNG)
85 RHO2 = SIGMA

y
D m
90 R V(L )
R
v

100 SIGMA = SIGM
IF (SIGMA. LT. 0.
IF (GVG. LE. 0.)
IF (DELGAM. LE. 0.
GO TO 107
Chixdx
105 IFCIPRINT. LE. -2) WRITE(S, 1124) SIGMA, GYG, DELGAM, (G(J), J=1, N)
{F (SIGMA. LT. 0. 1*ROSTOP) GO TO 166
IF(IPRINT. LE. 0) WRITE(5, 1045)
NX = 6
GO TO 200
c . UPDATE COVARIANCE MATRIX
107 TRACE=0.
iF (DELGAM. GE. GVG) GO TO 123
DO 120 1=1,N
RC = v{I, 1)
DO 120 J=1,N
D= XD{1) XD (J) /DELGAM-YG(I) VG (J) /GVG
120 V(1,3 =Vv({, ) +D
NSWIT=1
GO TO 135
Cixkkkd
123 NSWIT=2
DO 125

1, N

I,

.0 + GVG/DELGAM
=, N



DO 130 J=1,N
D = XD{I)*VG(J) + VG(I)*XD{J) -~ XD(1)*XD(J)*COEF
130 v(I,J) = ¥(I,J) - D/DELGAM
135 [COVAR=2
IFCIPRINT. LE. =2) WRITE(5, 1130) NSWIT
DO 140 I=1, N
DIAG = (V(I, D-R(Y/ (v, DARD)
140 TRACE=TRACE+DIAG*D1AG
TRACE = dSQRT (TRACE/PARN)
DO 147 K=1,N
XXS(K) = X(K)
147 GS(K) = G(K)
FS$ = FST{LB)
LT = LB
LB = LA
LA = LT
MATGD=2
GO TO 24
cC END MAIN LOOP
164 |ER=T3
G0 TO 170
Ckidik
166 1ER=T4
GO TO 170
Chekdd
168 1ER=T1
IECIPRINT. LE. 1) WRITE(5, 1005) SIGMA, ROSTOP
170 IF(IPRINT. LE. 3) WRITE(5, 1000)
ICOVAR = 3
IFCIPRINT. LE. 1) WRITE(5, 1122) KOUNT, KAISU, FMIN, (X(J), J=1, N)
[FCIPRINT. LE. 3. AND. MATGD. LE. 0) WRITE(5, 1140)
GO TO 435
Crxix
190 KMNP = KAISU - NPFN
:F(ISEINT.LE.S) WRITE (5, 1025) KAISU, NPFN, KMNP, NCUT
ER=
GO TO 230
Chixss
195 Ii(inlNT.LE.O) WRITE (5, 1035) FMIN, FS
N =
200 IF(IPRINT. LE. 3) WRITE(5, 1030)
IF(NX. GE. 6) GO TO 212
DO 210 K=1, N
210 X(K) = XXS(K)
212 NX = 0
IF (SIGMA. LT. ROSTOP%0. 1) GO TO 168
NIN = NIN + 1
IF(FD} 215, 220, 215
215 IF(DFS) 220, 217, 220
217 IF(NIN. GE. 3) GO TO 168
220 IF(NIN. GE. 4} GO TO 225
IF{MATGD. LE. 0) GO TO 225
GO TO 2
Ckdikkx
225 |ER = 93
NTRY=NCYCL
230 IFCIPRINT. LE. 3) WRITE(5, 1010)
IFC!PRINT. LE. 1) WRITE(5, 1070) KAISU, FMIN, NTRY, IER, (X (J), J=1, N)
435 IF(IPRINT. LE. 0) CALL MATCOR(M, V, TRACE, 1, P, VG, R, Y, ICOVAR)
IFCIPRINT. LE. 3) WRITE(S, 1145) FMIN
ICOVAR = ICOVAR — 2
close (5)
RETURN
Chekes

1000 FORMAT (1HO, 20X, 33HDAFLEP MINIMIZATION HAS CONVERGED)

nn



L

1005 FORMAT{1HO, 20X, ' CHECK THE RESULT, BECAUSE OF THIS STOP DUE TO ',
& 'GxV4G(SIGMA) =',G13.4," .LT. 0. 1%EPSF =', G13.4, /1H , 65X,
& 'OR NO VARIATION OF FMIN')

1010 FORMAT (1HO, 20X, 42HDAFLEP MIN. TERMINATED WITHOUT CONVERGENCE)

1011 FORMAT (1H+, 24X, SHNSWIT, 2X, 5HIGNAL, 2X, SH{IER))

1015 FORMAT (1HG, 20X, ' SECOND DERIVATIVE ALONG X{I',13,” ) IS NEGATIVE')

1020 FORMAT (1HO, 20X, 43HCOVARIANCE MATRIX IS NOT POSITIVE-DEFINITE.)

1021 FORMAT (1H+, 32X, 13, 2X, 1H(, 13, 1H))

1025 FORMAT (1HO, 4%, 1H(I5, 14H = KAISU ) - ( 15, 17H = INITIAL KAISU , 3
& H) =16 154 IS . GT. NCUT(= 15, 1H))

1030 FORMAT (1HO, 20X, 37THDAFLEP MIN. FAILS TO FIND IMPROVEMENT)

1035 FORMAT (1HO, 20X, ' THE NEW FMIN (=',G13.5' ) IS EQUAL TO THE ',
& 'OLD FMIN (=", G13.5,° ), SO RESTART')

1040 FORMAT (1HO, 20X, ' THE CONDITION ON EPSX IS NOT SATISFIED', 13,
& ' TIMES, SO RESTART')

1045 FORMAT (1HO, 20X, ' SIGMA . GT. 0. 01+EPSF, NGATIVE GVG, OR NEGATIVE °,
& 'DELGAM APPEARS, S0 RESTART')

1050 FORMAT (1HO, 20X, ' TRACE =", G13.4,' IS .LT. VTEST =', G13. 4)

1060 FORMAT (1H , 3X, 2H% (15, 1H), 1X, G13. 5, 4H NS=13, 4H NF=13, 4H 1 =I3, 12X,
& 5(iH% G12. 5)/(65X, 5(1H%, G12. 5)))

1070 FORMAT(1H , 3X, 2H% (15, TH), 1X, G13. 5, 84 NTRY =14, 6H [ER =13, 12X, 5(I
& Hx G12. 5)/ (65X, 5(1H%, G12. 5)))

1110 FORMAT (1HO, 5%, 5HDFS =, G14. 5, 2X, 6HEPSF = G13. 5/1H , 5%, 6HD[FX =,

& G13.5, 2% 6HEPSX =, G13.5, 2X, 6HAT 1 =, 13/)
1111 FORMAT (1HO, 40X, ' INITIAL FMIN =", G13.5/)
IIIZ&FORM§;(1H0,1X,3HNO.,TH(KA!SU)lTX.4HFMiN,48X,14H(X([),l=l.———,,lz
H

1122 FORMAT(IH , 14, TH(IS5, TH), 1X G13. 5, 33X, 5(G13. 5) /(65X, 5(Gi3. 5)))
1123 FORMAT (1H , 42X, 6HEXD =, G10. 3, 5(2H D, G11. 4) / (65X, 5(2H D, G11. 4)))
1124 FORMAT (1H , 25X, 3HSIGG10. 3, 4H GVGG10. 3, 4H DELG10. 3,
& 5(2H G, G11.4)/(67X, 5(2H G, G11. 4)))
25 FORMAT(1H , 25X, 3HLB , G10. 3, 3H LA, G10. 3, 3H LC, G10. 3)
30 FORMAT(1H , 25X, *SWITCHING MODE =', 13)
40 FORMAT (1HO, 25X, ' COVARIANCE MATRIX INACCURATE' /1H , 30X,
& °'RECOMMED TO RESTART FROM THE SIMPLEX METHOD’ /1H , 30X,
& 'BY USING THE FINAL VALUES OF X')
1145 FORMAT (1HO, 40X, 1THLAST FMIN = G13. 5/1H0, 12X, 22 (1H%), 5X%,
& ' DAFLEP METHOD ENDS’, 5X, 45(1H®)//////)
1160 FORMAT (1HO, 20X, 2HX (13, 4H ) =, G13. 5, 22H(LIMIT VALUE) APPEARS , 17
& HTWICE, SO RESTART)
1165 FORMAT (1HO, 30X, ' NOTE—X (1=", 13, 3H )=, G13. 5,
& ' 1S QUTSIDE OF LIMIT /1H , 35X "XMIN =", G13.5,' XMAX =", G13. 5,
& ' FD =", G13.5/)
1167 FORMAT(THO, 20X, "LIMIT ON X WAS REACHED 10 TIMES, SO RESTART)
1170 FORMAT (1HO, 10X, 10 (1H%), 2X, " START REINVESTIGATION(NG.’, 13, 4H ) ,
& 10(1H%))
END

11
11
11

SUBROUTINE MATCOR (N, V, TRACE, KODE, P, @, S, VLINE, ICOVAR)
implicit double precision (a—h, o~z

CC PRINTS THE COVARIANCE MATRIX V. CALCULATES AND PRINTS THE
CC INDIVIDUAL CORRELATION COEFFICIENTS AND GLOBAL CORRELATIOQNS.
CC

DIMENSION VN, N}, P(N, N), Q(N), S(N), VLEINE (N}
COMMON/ INATOL/JPRINT
M=N
WRITE (6, 1000)
IF (TRACE) 10, 20,10
10 WRITE(6, 1010) TRACE
¢ . . |INTERNAL COVARIANCE MATRIX
20 IF(JPRINT. LE. -2) GO TO 90
IF(JPRINT. GE. 1. AND. KODE. LT. 1) GO TO 120
80 DO 100 1=1, N
100 WRITE(6, 1020} (v(i, J), J=1, 1}
WRITE(6, 1030)



C
120 IF (KODE.LT. 1) GO TO 500

IF(ICOVAR. LE. 1) RETURN

IF(N. LE. 1) GO TO 500

WRITE (6, 1050)

NPARM = MINO (N-1, 10)

WRITE(6, 1055) (ID, 1D=1, NPARM)
DO 200 i=2, N
M= 1-1

D0 170 J=1
VLINEQJ) =
WRITE (6, 1060)

WRITE(6, 1030)
DO 260 J=1, N

DO 260 K=1, N
PK J) = V(K J)
CALL INVERT(M, P, Q, S, VLINE, 1ERR)
IFCIERR. GT. 0) RETURN
WRITE (6, 1070)
DO 400 L=1,N
400 VLINECL) =1.0-1. 0/ (V(L L)*P(L L))

WRITE(6, 1080) (VLINE (K), K=1, N)

500 RETURN

Chkxkix
1000 FORMAT (/1H2, 17X, 17THCOVARIANCE MATR
1010 FORMAT (1HO, 28X, 28HLAST FRACTIONAL
1020 FORMAT (1H , 21X, 10G11. 4/(22X, 1H%, 10
1030 FORMAT(iH )
1050 FORMAT (/1H , 17X, 24HCORRELATION COE
1055 FORMAT (1H , 18X, 4HINT., 15, 9111)
1060 FORMAT (1H , 18X, 13, 10G11. 4/(22X, 1H#
1070 FORMAT (1H2, 17X, 30HGLOBAL CORRELATI
1080 EgRMAT(1HU,21X,10G11.4/(22X,IH*,10
D
SUBROUTINE GRAD (N, X, XD, AMIN, GG, GG?2
& FCNG)
CALCULATES THE FIRST DERIVATIV
[F IGRAD = 0, AN ERROR ESTIMAT

IMPLICIT DQUBLE PRECISION(A-H, 0-2)
DIMENSION X(N), XD(N), GG (N), GG2 (N),
IF(IGRAD. EQ. 1) GO TO 200
M=N
DO 46 1=1, N
EPS = 0.1 % dABS(XD(I))
ABX] = dABS (X (1))
IF(ABX1) 10, 20, 10
10  XDP = ABX! % 0.0001
GO TO 30

Ckergk

20 XDP = 0. 0001

30 EPS = DMIN1(XDP, EPS)
ABXI = 1. 0FE~5 % ABXI
IF (EPS. LT. ABX1) EPS = ABXI
XTF = X()
X(1) = XTF + EPS
CALL FCNG(M, X, FS1, GY, 0)
KAISU=KAISU+1
X{I) = XTF - EPS
CALL FCNG(M, X, FS2, GY, 0)
KAISU=KA | SU+1

GG(1)= (FS1-FS2)/(2. 0%EPS)

170
200

. IM
Vf].J)/dSQRT(dABS(V(I

260

cC
cCC
cC

« .

CORRELATION COEFFS. .

, DRV, D))
(VLINE(1Z), 1Z=1, IN)

GLOBAL CORRELATION COEFFS . . .

1X)

CHANGE WAS G13.5/)

G11. 4))

FEICIENTS)

, 10G11. 4))

ON COEFFICIENT)

G11. 4))

, GY, V, UP, 1GRAD, 1COVAR, KAISU,
ES OF FCN (GG),

E GG2 1S AVAILABLE

GY (N), VN, N)

....... FIRST DERIVATIVE
. . ERROR ON FIRST DERIVATIVE



cC
cC
¢C
cC

C

46
200

20

40

49
50
51
59
60

65

70

GG2 (1)Y= (FS1+FS2-2. 0%AMIN) /(2. 0%EPS)
X({1) = XTF
RETURN
END

SUBROUTINE INVERT(N, A, @, S, PP, IFAIL)

implicit double precision(a—h, o-2)
INVERTS A SYMMETRIC MATRIX,  MATRIX IS FIRST SCALED TO
HAVE ALL ONES ON THE DIAGONAL (EQUIVALENT TO CHANGE OF UNITS)
BUT NO PIVOTING IS DONE SINCE MATRIX IS POSITIVE-DEFINITE.

IMPLICIT DOUBLE PRECISION (A-H, 0-Z)
DIMENSION ACN, N}, Q(N), S(N), PP (N)
IFAIL=0
IF (N.LT.1) GG TO 100
- SCALE MATRIX BY SQRT OF DIAG ELEMENTS
D =1, N

SI= A, 1)
IF (S1) 7100, 100, 8
S(I) = 1. 0/dSQRT(S1)
DO 20 I=1,N
DO 20 J= 1, M
ACL ) = ACL 0 #SC1)#S(D)

DO 65 K=1, N
QK)=1. /A (K, K)
PPK) = 1.0
ACK, K)=0.0
KP1=K+1
KM1=K-1
IF (KM1) 100, 50, 40
DO 49 J=1, KM1

PP(J)=A(J, K) _
Q{1 =AJ, K)*Q ()
A(J, K)=0.
IF(K-N)51, 60, 100
DO 59 J=KP1, N
PP(J)=A(K, J)
Q(J)--A(K J) % (K)

A(K, J)=0.0
ELIMINATION PROPER
D0 65 L-

AGLL) = (]IJ +PPU) # QL)
ELEMENTS OF LEFT DIAGONAL AND UNSCALING

. . START MAIN LOOP . . . .

1,
AK J) =

ALK = ALK,

RETURN

J
§§K,J) £S (K) S (J)

FAJLURE RETURN

100

IFAIL=1
RETURN
END



